2000 4= B FR 1]
JERESEmENIZ VLT, A0, 1), B, 0), C(-1, 0) £ 9%,
2 2
Xiﬂﬂi?ﬁ’féi‘%mx—z+@;—zb):l(a>0, b>0)%5&2 %,
a

CHNEM Y =1-x1THT 5 L x. b2x2+al(y-h)? =a’b?ITfAALT

b2(L—y)? +a2(y—h)? =b2(y?2 —2y+1)+a?(y? —2by+b?) = ah? . \
(@ +b?)y? —2b(@’® +b)y+b% =0 -T -a 0 a >X
y (B89 5 "R (@2 +b?)y? —2b(@® +b)y +b? =0 N EMEEZFFON D
D/4=b?(a? +b)? ~b?(a® +b?) =b?{(a* + 2a%b+b?) — (a’ +b?)|
=b%(a* +2a’b-a®)=a’b*(a’+2b-1)=0
a2 +20-1=0 .'.b:%(l—az) —O
ZOEE, XMFMEND, y=1+xITHEET S,
WM OERIE rab THZ 605, DL ab:%a(l—az)fv&)mxg\
O<a<liZBW\TS(a)="La(l-a?) DEHA TS, S’(a):E(l—Saz):—En(aJr—J(a—i]
2 2 2 J3 J3
WA DMWY T, a=—= 0L XA )
‘/§ a 0 - 1
J3 V3 &
5 A .-‘Z._3.3:_3ﬂ ...... (%) S'(a) + 0 —
233 9
S(a) / N\

(1£)
2 2

75+ D=1 (2> 0, b>0) DAL, LIFO kISR B,
a

2 a
y2=b—2(a2—x2)J:D y:J_rg\/az—x2 KRR L0 S:%L va? - x?dx
a

b ma’
a 4

=rab

joa\/az —x2dx 1T a O)P%@ﬁﬁ@%’@&béb)% S



